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AN INTRODUCTION OF THE COMPUTER
MATHEMATICS AND THE TYPING PROGRAMME

Tamafumi KANEYAMA
Summary

Nowadays the personal computer is commonly used for information retrieval and
processing. Word processors are also found in almost any workplace and any home.
However, most of those who work with them hardly have any training, though they
believe it necessary to develop comprehensive computer literacy. Students in our math
courses use computers for programming, and therefore must master basic typing and
keyboard skills. For that reason [ offer a course designed to develop those typing and
keyboard skills.
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#include <stdio. h>
#include <conio. h>

#include <(graphics. h>

#include <fcntl. hy

#include <sys¥stat. h)>

#include <bios98. h>
#include <time. h>

typedef union {unsigned char ¢ [20] ;
struct {int n_type;

} data;

typedef struct {int
int
int
int

unsigned char n_c¢ [250] ;
unsigned char n e [250] ;

}

int n _correct;
int n_error;

int  year;
int month;
int day;
int 1 time;

int t time;
int  count;

d;

level;
max;
n_cc;
n_ee;

long level time;

} now;

int f course= 1;

long t;
time t  tl, t2;

char f g [800] ,f w [800] , name [40] ;

data d [30] ;
now 1;
main ()
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{ int g_driver, g mode;

detectgraph (&g driver, &g mode) ;

initgraph (&g driver, &g mode, ") ;

textmode (0) ;

clrser () ;

cleardevice () ;

gotoxy (28,12) ; printf ("F'— 2 2 HAAATVWET") ;

read_keyboard ();

data read (0) ;

do { s

switch (disp_title () )

{case 1:type ex () ; break; S x £ 1 EE O x
case 5 :result () ; break; JSx £.5 HiiE %
case 6 :course () ; break; JS* .6 a—2%
case 10 : finish () ; break; S x fU10 T %
default: break;

}
} while (1) ;

s

type ex ()
{ int i, f_len, f_index, f lend, start;
long lg;
unsigned char ¢ [3000] ;
char cc [10] [7] = {” 7

” 9 ” 9 ”» 9 9 9 n} .
) ’ ’ ’ ’

clrser () ;
function_key disp (cc) ;

1 clear () ;
f course = 0; Sk O— Zg */
f len = read file (l. level, ¢) ;
f_index = f lend - start = 0 ;
gotoxy (63, 2) ; printf ("2—x2 %d”, 1. level + 1) ;
bar (60, 134, 580, 136) ;
t=0;
do {
f index = f lend;
line (60, 135, 60 + 520 L*f lend /f len, 135) ; SR FTHEAL I ER*
file disp (c, &f lend) ;
if (enter (c, f_index, f lend, start ++) == 1) return;
if (c [f lend] == 0x0d) {

153



if (¢ [f lend + 1] == 0x0a) f lend + = 2;

else f lend+ +;
}
} while (f lend <f len-1) ;

timer (0) ;

l. level time = t;

f course = 1;

line (60, 135, 580, 135) ;

data_write ();

i
% B[ Ak B *
% a— Z DR *
Sk a— 2T *

gotoxy (10, 2) ; printf ("#&7T I 77> 7 g X —FMLTLZEWT)

result ();

if (inc_level () ) {
L. level + +;
data read(1);

if (1. level> 1. max) I. max = . level ;

}

int enter (unsigned char *c, int f index, int f lend, int start)
{ int h, k, k_miss, index, k_scan, d s;
unsigned char scan, b_scan, inner, shift, b_shift,d;
char mesl [35] , mes2 [35] , mes3 [35] ;
char cc {10] [7] = {" ‘pWyr ", ” v

strcpy (mesl, " [ 474 X =g § 7)),
strepy (mes2, ” [ 74 ] X2 I N TV FHAT)
strepy (mes3, " 2~— Z % — TRA T ")
b scan = 0 ;
b_shift = 0x20 ;
if (start == 0)
{
d = ¢ [f index] ;
if ( (d> 160) && (d <224) )h = 4; else h = 0,
do {
key shift (&shift) ;
if (b_shift! = shift)
{shift disp (b_shift, 3);
b_shift = shift ;
shift_disp (shift, 1) ;
gotoxy (10, 2) ;

Sxh g HFNEEh =4 %/

if (shift & 4) printf ("9s”, mesl) ; else printf (79s”, mes2) ;

}
} while ( (shift & 4) ! =h) ;
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gotoxy (10, 2) ; printf ("9%s”, mes3) ;

do {
key (& scan, & inner, & shift) ;
if (scan == 0x67) return (1) ; Sk f.6 a— 2 *x /
} while (scan! = 0x34) ; /% space ¥-— x

gotoxy (10, 2) ; printf (”9%35s”, ") ;
function_key disp (cc) ;
timer (1) ;
}
index = 10 ;
textcursor (DISP_ CURSOR) ;
do {
d=c [findex ++] ;
k_miss = 0;
d_s = key disp code (d, 2) ; /% key OfR *
do {
gotoxy (index, 6);
k = key (& scan, &inner, &shift) ;
shift & = Oxle;
if (b_shift! = shift)
{key disp code (d, 2);
shift_disp (b_shift, 3) ;
b _shift = shift;
shift disp (shift, 1) ;
gotoxy (10, 2) ;
if (shift & 4) printf (”%s” , mesl) ; else printf (7%35s” , ") ;
gotoxy (index, 6);

\
!

if (k) {
if (inner ==d) {
key disp (b scan, 8) ;
break;
}
k miss - 1, Sk RhEVWH N *
key disp (b scan, 8) ;
if (d_s == b_scan) key disp code (d, 2) ;

b scan;
key disp(scan, 4); S *% gD —DFKirk S
putch (7) ;
}
if (scan == 0x62) pause () ; % .1 thig *x /
if (scan == 0x67) return (1) ; S % .6 a— 2k x /

} while (scan! = Oxfe) ;
Lnec [d]l++;
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}

ln cc ++ ;

if (k_ miss==1) {
Lne [d]++;
l.n ee ++ ;
!

key disp code (d,8) ;

printf ("%c” , d) ;

index + + ;

} while (f index <f lend) ;
return (2) ;

int pause ()

{

N

unsigned char scan, inner, shift ;

timer (0) ;
gotoxy (4, 25) ; cprintf (” PR ) ;
gotoxy (42, 25) ; cprintf (” ")

gotoxy (10, 2) ; printf ("dlispTF) ;

textcursor (NODISP CURSOR) ;
do {
key (& scan, & inner, & shift) ;
+ while (scan! = 0x62) ;
gotoxy ( 4, 25) ; cprintf (" iy 7) ;
gotoxy (42, 25) ; cprintf ("2— 2#&”) ;

gotoxy (10, 2) ; printf (" 7Y

textcursor (DISP_CURSOR) ;
timer (1) ;

timer (int k)

{

int i;

if (k) {time (&t1) ; return; )
time (& t2) ;
t += difftime (t2, t1) ;

int inc_level ()

{
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int k;

k=1. level;
if (k== 29) return (0) ;
it (d (k] . d. n _correct) return (0) ;

if (d [k] .d. n_correct <4%d [k] . d. n_error) return (0) ;

/% key DFOREET %/

% f.1 THB *x

% k=1 BRI 2G04 5 *
% k=0 Bl #1kd t o %

Sk a— 2% BT h *

1

S IESTATH M *

if (6&d [k] .d. n correct 8Lxd [k] .d. 1 time) return (0); /& CHMK %
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if ((s & 0x01) ! =0) (k_d (84, 88, 60, col) ; k_d (408, 88, 40, col) ;} /*SHIFT %

return (1) ;
}
1 clear ()
{ int i;
l.L.ncc=1nee-=0
for (i=0;i <250;i ++4) L. nc [i] =L ne [i] =0;
1. level time = 0;
}
int disp_title ()
{ unsigned char scan, inner, shift;
char ¢ [10] [7] = {" Wy " o
Pog—g »
clrser () ;
function_key disp (c);
keyboard copy (1, 0) ;
disp_ waku (1) ;
putch (7);
textcursor (NODISP_CURSOR) ;
gotoxy (63, 2) ; printf ("a2—2 %d”, 1 level + 1) ;
gotoxy (10, 2) ;printf ("7 7> 7 3> %—%MWL T
do {
key (& scan, & inner, & shift);
if (scan == 0x62) return (1) ;
if (scan == 0x66) return (5) ;
if (scan == 0x67) return (6) ;
if (scan == 0x6b) return (10);
} while (1) ;
}
shift disp (unsigned char s, int col)
{
if ((s & 0x02) ! = 0) k d (108, 64, 24, col);
if ((s & 0x04) !'=0) k_d (132, 112, 24, col)
if ((s & 0x08) ! =0) k_d (156, 112, 24, col)
if ((s & 0x10) !'=0) k_d (84, 64, 24, col) ;
}
int key disp code (unsigned char d, int col)
{ int w, s;
KEY INFO ky;

static char ¢ [256] = {0,

’

’

0,0,0,0,0,0,0,0,0,0, 0,0,28,0,0,0,0,0,0.0,

/ *CAPS %/
Y 3/
/*GRPH %/
/*CTRL %/
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0,0,0,0,0,0,0,60,59,58,
9,39,38,48,11,49,50,10,1,2,
11,49,50,26,29,45,43,31,18,32,
16,19,30,20,22,44,17,42,21,41

18,32,33,34,23,35,36,37,47,46,
21,41,27,13,40,26,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
49,27,40,48,50,10,3,18,4,5,
6,20,33,34,39,45,42,31,19,25,

36,32,44,2,12,11,35,46,40,50,

61,52,1,2,3,4,5,6,7,8,
3,4,5,6,7,8,9,39,38,48,
33,34,23,35,36,37,47,46,24,25,
27,13,40,12,51,0,29,45,43,31,

24,25,16,19,30,20,22,44,17,42,
0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
6,7,8,9,41,13,3,18,4,5,
43,16,29,41,17,30,22,23,1,48,

47,7,8,9,24,37,49,38,51,10,

21,26,27,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,

0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0},

% ASCII # SCAN CODE (2% 37 %/

r [256] = {0,
0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
1,1,1,0,0,0,0,0,0,0,
1,1,1,0,5,5,5,5,5,5,
5.5,5,5,2,5,5,5,2,5,

6,6,6,6,3,3,3,3,3,3,
3,6,1,1,1,1,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
1,1,1,1,1,1,4,4,4,4,
0,0,0,0,0,0,0,0,0,0,

0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,

/% SHIFT KEY 0=% L 1 - 4§
4= BFA

s=c [d] ;

key disp (s, col);

ky. cmmd=2;

w = bios98key (&ky)&2;

switch (r [d])
{case 1:

0,0,0,0,0,0,0,0,0,0,
0,0,4,4,4,4,4,1,1,1,
0,0,0,0,0,0,0,0,0,1,
5,56,2,2,2,2,2,2,2,2,
0,0,0,0,1,1,6,6,6,6,

3,3,6,6,6,6,3,6,6,6,
0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
1,1,1,1,4,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,

0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,0,0,
0,0,0,0,0} ;

2=k 3=CAPS okt &k
5=41 6=CAPS ¥k &fix /

1 shift (2) ; r shift (3) ; break;

case 2: if (w) {1 shift (3

)
) ; r_shift (3) ;}
)

else {I shift (2) : r_shift (3) ;} break;
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case 3: if (w) {1 shift (2) ; r_shift (3) ;}
else {1 shift (3) ; r_shift (3) ;} break;
case 4: 1_shift (3) ; r_shift (2) ; break;
case 5: if (w) {1 shift (3) ; r shift (3) ;}
else {l shift (3) ; r_shift (2) ;} break;
case 6: if (w) {1 shift (3) ; r_shift (2) ;}
else {l_shift (3) ; r_shift (3) ;} break;
default: 1 shift (3) ; r_shift (3) ;} break;
b
hand (s, col) ;
return (s) ;
}
1_shift (int col)
{
if (col ==3) {k_d (84, 88, 60, 8) ; finger (1, 7) ;}
else  {k_d (84, 88, 60, col) ; finger (1, col) ;}
}
r_shift (int col)
{
if (col == 3) {k_d (408, 88, 40, 8) ; finger (10, 7) ;}
else {k_d (408, 88, 40, col) ; finger (10, col) ;}
}
hand (int s, int col)
{ int I
switch (s) {
case 1 : case 0x10 : case 0x1d : case 0x29 : case 0x0f : I = 1
case 2 : case 0x11 : case Oxle : case 0x2a : 1 = 2 ; break;
case 3 : case 0x12 : case 0x1f : case 0x2b : 1 = 3 ; break;
case 4 : case 0x13 : case 0x20 : case 0x2c :
case 5 : case 0x14 : case 0x21 : 0x2d : | = 4 ; break;
case 6 : case 0x15 : case 0x22 : case 0xZ2e:
case 7 : case 0x16 : case 0x23 : case 0x2f : 1 = 7 ; break;
case 8 : case 0x17 : case 0x24 : case 0x30 : 1 = 8 ; break;
case 9 : case 0x18 : case 0x25 : case 0x31 : 1 = 9 ; break;
case 0x34 : finger (6, col) ;1 =5 ; break;
default : if (s <0x33) 1 =10; else ] =0;
}
finger (1, col);
}
key disp (int s, int col)
{ int w;
w = 24;

; break;
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1l
switch (s) {
case Ox0e : k_d (420, 16, 28, col) ; break; /% BS *
case 0x0f : k_d (84, 40, 36, col) ; break; /*TAB =%/
case Oxlc : k_d (408, 40, 40, col);

k d (420, 64, 28, col) ;

k d (532, 112, 24, col) ; break; /" %CR L 4
case 0x34 : k_d sp (col) ; break; /' *SPACEx /
case 0x51 : case 0xab : case 0xb5 :

k d (180, 112, 36, col) ; break; /" * NFER x /
case 0x35 : case 0Oxal : case 0xbl:

k d (372, 112, 36, col) ; break; /% XFER % /

case 0x36 : case 0x37 : case 0x38 : case 0x39 : break;
/%*ROLL_UP ROLL DOWN INS DEL * ~
case 0x3a : case 0x3b : case 0x3c : case 0x3d : break; SRR X —x%x
default : if (s < = Ox0e) {k_d (84+24%s, 16, w, col) ;
break;
}
if (s ¢=0x1lb) {k d (120+24x% (s-16) , 40, w, col) ;
break;
1
if (s <=0x28) {k d (132+24% (s-29) , 64, w, col);
break;
}
if (s < =0x33) {k d (144+24% (s-41) , 88, w, col) ;
break;
}
if (s < =0x50) {k d (4604 ((s-62) %4) *24, 16+ ((s-62) 74) %24, w, col);
break;
!

}
k d (int xl, int y1, int w, int col)

{ int  x,y,k, b
char b [810] ; / %60%24 = 806 %
if (col == 8) {setactivepage (1) ; S/ %col =8 &4 %

x = xl;y = yl+150;
getimage (x, y, x+w-1, y+24, b) ;
setactivepage (0);
putimage (x,y, b, 0) ;
return;
}
setactivepage (1) ;
x=xl;y =yl
getimage (x, y, x+w-1, y+24, b);
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setactivepage (0) ;

h= (w+7),8;

k =0

x =xl;y = yl+150;

if (col & 1) {
putimage (x, y, b, k) ;
k =2;
'

if (col & 2) {
b [h] =b [0];
b [h+2] =b [2] ;
putimage (x, y, b+h, k) ;
k =2
}

if (col & 4) {
b [2%h] =b [0] ;
b [2xh+2] =b [2] ;
putimage (x, y, b+2%hk) ;
k = 2;
'

k_d sp (int col)

{

}

result ()

{

int  p [8];

if (col == 8) col = 7;

p [0] =p [6] =217;
p [1] =p [3] = 263;
p [2] =p [4] =371
p [5] =p [7] = 285
setcolor (col);
setfillstyle (1, col) ;
fillpoly (4, p) ;
putpixel (216, 273, 0) ;
putpixel (371, 273,0) ;
putpixel (216, 285, 0) ;
putpixel (371, 285, 0) ;

do {
switch (result_title())
{case 1 : cleardevice () ; return;
case 2 : result speed () ; break;
case 3 : result rate () ; break;

S RED
/xR JE
/% IEfRE

*,/
*/
*/
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}

result line ()

{

}

case 4 : result stroke () ; break; Sk I AT xS
case 5 : result_table () ; break; SRk X %
case 6 : result level disp () ;break; ya sy &l x /
case 7 : result_total () ; break; SR ad %/
case 9 : result_print () ; break; /% FRI *
default : break;
}
} while (1) ;
inti, p (8] ;
gotoxy (30, 23) ; cprintf (”g B %s” , name) ;
gotoxy (10, 20) ; printf ("2—2") ;
gotoxy (20, 20) ; printf (”57) ;
gotoxy (30, 20) ; printf (”10") ;
gotoxy (40, 20) ; printf (”15”) ;
gotoxy (50, 20) ; printf (720”) ;
gotoxy (60, 20) ; printf (725”) ;
gotoxy (70, 20) ; printf (730”) :
setfillstyle (1, 7) ;
p [0] =p [6] =75;
p [1] =p [3] =50,
p [2] =p [4] =565;
p [5] =p [7] =300 ;
fillpoly (4, p) ;
setfillstyle (1, 3) ;
setcolor (2);
bar (75, 45, 565, 50) ; bar (75, 300, 565, 305); Ya Yt EVe
bar (75, 50, 80, 300) ; bar (560, 50, 565, 300); yas i EY4
for (i =0;1 <30 ;i++) bar (96+i% 16, 50, 96+1% 16, 300) : kR xS
for (i=0;1i <4;i4++) line (80, 250-i % 50, 560, 250-i % 50) : V&Y i V4
for (i=0;1<5;i++) line (160-+i%80, 55, 160+1% 80, 300) ; k4t ~

result_speed ()

{
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int i, y, yb;
long x, t;

cleardevice () ;

clrser () ;

textattr (0xe5) ;

gotoxy (30, 2) ; cprintf (" 14y ¥ 4 7ifE") ;
gotoxy (7, 3) ; printf ("] /43") ;
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gotoxy (7, 4) ; printf (72507) ;
gotoxy (7, 7) ; printf ("200”) ;
gotoxy (7, 10) ; printf (”150”)
gotoxy (7, 13) ; printf (”1007)
)
)

’

gotoxy (7, 16) ; printf (" 50”) ;
gotoxy (7, 19) ; printf (" 0”) ;
result line () ;

setcolor (4) ;
t=d [0] .d. ] time
if (x) x = 60L*d [0] . d. n_correct, 't ; else x=0;
yb = 300-x;
if (yb <50) yb = 50;
for i=1;1<30;i++)
{t=d [i] . d. ] time;
if (t) x =60Lxd [i] . d. n_correct t; else x = 0;
y = 300-x;
if (y <50) y = 50;
line (80+i% 16, yb, 96+i% 16, y) ;
yb =y,
}

result rate ()
{ int i, k, x, y, yb;

cleardevice () ;

clrscr () ;

textattr (0Oxeb);

gotoxy (36, 2) ; cprintf ("iFf#®s") ;
gotoxy (7, 3) ; printf ("%”) ;
gotoxy (7, 4) ; printf (100”) ;
gotoxy (7, 7) ; printf (" 80”) ;
gotoxy (7, 10) ; printf (” 607) ;
gotoxy (7, 13) ; printf (7 40”) ;
gotoxy (7, 16) ; printf (7 20”) ;
gotoxy (7, 19) ; printf (" 0”) ;

result line () ;

setcolor (4) ;
k =d [0] . d n_correct;
f (k) x =250L*k 7 (d [0] . d. n error+k) ; else x = 0;
yb= 300-x;
f (yb <50) yb = 50;
{t=d [i] .d. 1 time;
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for i =1;

if (t) x = 60L*d [i] . d. n_correct 7t; else x = 0;
y = 300-x;

if (y <50) y = 50;

line (80+1i%16, yb, 96+i%16, y) ;

yb =y;

}

i<30;i++)

cleardevice () ;

clrscr () ;

textattr (0xeb);

gotoxy (36, 2) ; cprintf ("IEf#EK") ;
gotoxy (7, 3) ; printf ("%”) ;
gotoxy (7, 4) ; printf (”100”) ;
gotoxy (7, 7) ; printf (” 80”) ;
gotoxy (7, 10) ; printf (" 60”) ;

gotoxy (7, 13) ; printf (" 40”
gotoxy (7, 16) ; printf (" 2
gotoxy (7, 19) ; printf (”

result line () ;

setcolor (4) ;

k =d [0]

. d. n_correct;

if (k) x =250L*k,“(d [0] .d. n _error+k) ;else x = 0;

yb= 300-x;

if (yb <50) yb = 50;

for i=1;

result_stroke O

{

int i, x, y, yb;
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i<30;i++)
{k =d [i] . d. n_correct;
if (k)x = 250L*k, ~(d [i] . d. n error+k) ; else x = 0;
y = 300-x;
if (y <50) y = 50;
line (80+i% 16, yb, 96+i%x16, y) ;
yb =y,
}

cleardevice () ;

clrscr () ;

textattr (0xe5);

gotoxy (20, 2) ; cprintf ("% 4 78 (IFni) EHEEER B "),
gotoxy (5, 3) ; printf (" [@”) ;

b I |
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gotoxy (5, 4) ; printf (”5000”) ;
gotoxy (5, 7) ; printf (”4000”) ;

gotoxy (5, 10) ; printf (”3000”) ;
gotoxy (5, 13) ; printf (72000”) ;
gotoxy (5, 16) ; printf (71000”) ;
gotoxy (5, 19) ; printf (" 07) ;

gotoxy (72, 4) ; printf (”504”) ;
gotoxy (72, 7) ; printf (”407) ;
gotoxy (

gotoxy (72, 13) ; printf (7207) ;
gotoxy (72, 16) ; printf (710”) ;
gotoxy (72, 19) ; printf (70”) ;
result line () ;
setcolor (4) ;
yb = 300-d [0] . d. n_type,20;
if (yb <50) yb = 50;
for (i=1;1<30;i++)
{y = 300-d [i] . d. n type ~20;
if (y <560) y = 50;
line (80+ix%16, yb, 96+i%16, y) ;
yb =y;
}
setfillstyle (1, 2) ;
for 1=0;1i<30;i++)
{y = 300L-d [i] . d. t time /12;
if (y <60) y = 50;
bar (94+i%16, y, 98+i% 16, 300) ;
}

)
)
72, 10) ; printf (”30") ;
)
)
)

result table ()

{

inti,x,y,p [8];

cleardevice () ;
clrscr () ;
i=1 level;
gotoxy (10, 1) ;cprintf ("%s & AN 22— 2 %d HEKHEP LR, name, i+1) ;
gotoxy (45, 2) ;
if (Id [i] . d. count) printf "2 a— 23 F77HTLTWVEHA") ;
else {if (f course)
printf ("E#HEBIz 19%d £ %d A %d HCTT, 7,
d [i] . d. year, d [i] . d. month, d [i] . d. day) ;
else printf ("Z N3 —ANBHTHKb - 2ERTT”) ;
b
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}

setfillstyle (1, 7) ;
p [0] -p [6] =2
p [1] =p [3] = 30;
p [2] =p [4] = 637;
p [5] =p [7] = 370;
fillpoly (4, p) ;

setfillstyle (1, 2) ;
setcolor (2) ;
for i=0;1<22;i++) line (4, i%16+32, 635, i%16+32) ; % * ~
for 1=0;1<16;i++) line (ix42+4, 32, i%x42+4, 368) ; . x#ti * ~
for (i=0;1i<6;i++) bar (i%126+4, 32, 1%126+5, 368) ; / *#Aiix ~
for i=0;1<¢Bi++)
{put kanji ("3, 8+126%i, 33, 0, 0) ;
put kanji ("IE#$” , 53+126*1i, 33, 1, 0) ;
put kanji ("AIEREEL” , 90+126%1, 33, 1, 0) ;
!
if (kana ()) return; SRk G Itk
for (i=33;1 <126 ;i++)
{position (i, &x, &y);
moji_disp (i, x, y);

}

result total ()

{
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inti, x,y,p [8];

cleardevice () ;

clrser () ;

gotoxy (20, 2) ; cprintf ("%s X A DA ERER” , name) ;
setfillstyle (1, 7) ;

p (0] -p [6] =12;

p [1] =p [3] = 60;

p [2] =p [4] = 627,

p [5] =p [7] = 340;

fillpoly (4, p) ;

setfillstyle (1, 2) ;
setcolor (2) ;
bar (14, 62, 625, 64) ; bar (14, 95, 625, 97) ; bar (14, 336, 625,338) %

Va T VN L e
bar (14, 62, 16, 338) ; bar (319, 62, 320, 338) ; bar (623, 62, 625, 338) ;

SR MERIR*
for (i=0;1<15;i++) line (16, i+16+96, 623, i*16+96) ;  *4E#& %~
for (i=0;1<2;i++4) {line (i%304+64, 64, i%304+64, 336); /% ¥tk %~

line (i#%304+94, 64, i%304+94, 336);

£
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line (i* 3044160, 64, i % 304+160, 336);
line (i% 304+ 224, 64, i % 304+224, 336);
}

for i=0;1 <2;i++)

{put kanji ("a2—2", 16+304%i, 72, 0, 0) ;

put kanji ("#H", 64+304%1, 64, 0, 0) ;

put kanji ("[¥”, 64+304%1i, 80, 0, 0) ;

put kanji ("AITH”, 104+304 %1, 72, 0, 0) ;

put kanji ("EREEM]”, 168+ 304 %1, 64, 0, 0) ;

put kanji (" (43) 7, 1764304 %1, 80, 0, 0) ;

put kanji ("E#CIERHE”, 232+304 %1, 64, 0, 0) ;

put kanji (7 (%) 7, 256+304 %1, 80, 0, 0) ;

}

textattr (Oxel) ;
textcolor (0) ;
for i=0;1<5;i++)
{gotoxy (5, 7+1) ; cprintf (79%2d” ,i+1) ;
x =d [i] . d. count;
if (x) {gotoxy (10, 7+i) ; cprintf ("%2d” , x) ;
gotoxy (15, 7+1) ; cprintf ("%4d” ,d [i] . d. n type) ;
gotoxy (23, 7+1i) ; cprintf ("%4d” ,d [i] . d. t time, 760) ;
x =d [i] . d.n_correct;
y =d [i] . d. n_error;
gotoxy (35, 7+1) ; cprintf ("9%3d” , 100L*x_/ (x+vy)) ;
}
else {gotoxy (11, 7+i) ; cprintf ("-”) ;
gotoxy (17, 741) ; cprintf ("--") ;
gotoxy (25, 7+1) ; cprintf ("--") ;
gotoxy (36, 7+1) ; cprintf ("--") ;
}
}
for 1 =15;1 <30 ;i++)
{gotoxy (43, i-8) ; cprintf (79%2d” ,i+1) ;
x =d [i] . d. count;
if (x) {gotoxy (48, i-8) ; cprintf (7%2d” , x) ;
gotoxy (53, i-8) ; cprintf ("%4d” , d [i] . d. n_type) ;
gotoxy (61, i-8) ; cprintf ("%4d” , d [i] . d. o time 760) ;
x =d [i] . d. n correct;
y =d [i] . d. n _error;
gotoxy (73, i-8) ; cprintf ("9%3d” , 100L *xx ~(x+vy)) ;
}
else {gotoxy (49, i-8) ; cprintf (”-") ;
gotoxy (55, i-8) ; cprintf ("--") ;
gotoxy (63, i-8) ; cprintf ("--") ;
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gotoxy (74, i-8) ; cprintf ("--") ;

}
}
}
result print ()
{ inti,j, x,v;
TIME_INFO time_info;
fprintf (stdprn, "%s & A DL R | name) ;
time info. cmmd = 0;
bios98time (&time info) ; SR BEORENEFE L *
fprint (stdprn, ” 19%d £ %d A %d H ¥r¥n¥r¥n”,
(time_info.year,”16) * 10+ (time info. year%16),
time info. month week 16,
(time info. day,716) % 10+ (time info. day%16)) ;
fprintf (stdprn, "2 — 2, HBELK, QITH LH (), ),
fprintf (stdprn, "B IERERE (%), Bk ([4r) ¥r¥n¥r¥n”) ;
for i=0;1i <30 ;i++)
{if (i%5 == 0) {
for G =0;j <75;j++) fprintf (stdprn, ”-”) ;
fprintf (stdprn, "¥r¥n”) ;
}
fprint (stdprn, "9%4d” , i+1) ;
x =d [i] . d. count;
if (x) {
fprint (stdprn, ”%9d” , d [i] . d. count);
fprintf (stdprn, 7%10d”, d [i] . d. n_type);
fprintf (stdprn, ”9%10d” , d [i] . d. t time 760);
x =d [i] . d. n_correct;
y =d [i] . d. n_error;
fprintf (stdprn, ”9%15d” , 100L % x " (x+vy)) ;
fprintf (stdprn, "%18d¥r¥n” , 60L*x_/d [i] . d. 1 time) ;
}
else {
fprintf (stdprn, ” - -- -=")
fprintf (stdprn, ” -- --¥r¥n” ) ;
}
}
for (j =0;j <75;j++) fprintf (stdprn, "-” ) ;
fprintf (stdprn, "¥r¥n¥r¥n” ) ;
'
position (int i, int *x, int *y) Sk LN DFIRDOLLE *
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{
if ((i> 96) && (i <117)) {*x =4; *y = 34+i-96 ; return; } " *a-tx /
if ((> 116) && (i <123)) {*x =20; *y = 34+i-116 ; return; } *u-z% /
if ((i> 64) && (i <79)) {*x=20; *y =9+i-64;return; } " *A-N* ~
if ((> 78) && (i <96)) {*x =36; *y =3+i-78 ;return; } /' *0-Z% /
if ((>47) && (1 <64)) {*%x =52 ; %y = 3+i1-47; return; } % 0-9-?% ~
if ((1> 32) && (i <48)) {*x =67 ; %y = 3+i-32 ; return; } e l1ve vd
if ((1> 122) && (i <126)) {*x =36; %y = 20+i-122 ; }
}
moji_disp (int d, int x, int y) S kI A TORREXFINCRR*
{ int m;
textattr (Oxel);
if (ILnc([d] )
{textcolor (0x20) ;
gotoxy (x,y) ; cprintf (”%¢c” , d) ;
gotoxy (x+4,y) ; cprintf ("%3d” , L. nc [d] );
}
else {textcolor (0) ;
gotoxy (x, y) ; cprintf ("%c” ,d) ;
gotoxy (x+5,y) ; cprintf ("--") ;
}
gotoxy (x+11,y) ;
if (I.ne [d])
{textcolor (0x40) ;
gotoxy (x+9,y) ; cprintf ("%3d”,1.n e [d]) ;
}
else {textcolor (0) ;
gotoxy (x+10, y) ; cprintf ("--") ;
}
}
int kana ()
{ int i, x;
X = 0;

for (i =161 ;i <224 ;i++) x+=1Lnc [i];

if (Ix) return (0) ;

textattr (0xel) ;

for (i =177 ;1 <197 ; i++) moji disp (i, 4, i-173) ;

for (i = 197 ;i <217 ; i++) moji disp (i, 20, i-193) ;
for (i = 217 ;1 <224 ; i+ +) moji_disp (i, 36, i-213) ;
for (i = 161 ;i <166 ; i++) moji disp (i, 36, i-150) ;
for (i = 166 ;i <177 ; i+ +) moji_disp (i, 52, i-162) ;
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return (1) ;

put kanji (unsigned char *c, int x, int y, int 1. int col)

{

Sk (X, y) Ofi@ElC col T3 H c 2EoR1=0:4Mm1=1:FMH%x "
int i, j, k, h, w;
unsigned int code;
unsigned char f [34] ;

h = 0;
if 1) w=2;elsew-=1;
while (¢ [h])
{code = 0x100%c [h]+c [h+1] ;
h+= 2;
getfont (code, f) ;
for i=0;i<6;i++) for =0;j <2 ;j++) for (k=0;k B;k++)
if (((f [2%i+j+2] <<k) &0x80) == 0x80) putpixel (x+ (8*kj+k) w,
y+i, col) ;
Xx+= (16, /w) +2%1,
if (x> 640) {x =0;y+=28;}
}

kw20 w =1 Lfyx

result level disp ()

{
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inp k, X, y;

cleardevice () ;

clrscr () ;

k = 1. level;

gotoxy (10, 2) ; cprintf ("%s XA D 22— 2 %d OFEHE ¥n¥n” , name, k+1) ;
gotoxy (1, 4) ;

if (!d [k] .d.count) printf ("2 32T F7HETLTEFA, ") ;

else {

if (f course) printf ("i@Ht TN F L7z, ¥n¥n Jilil & T’ )

printf ("2 2— 2 DEF EFE %d [0 TEEBIZAE” . d [k] . d. count) ;

y =d [k] . d.t time

x =y,/60;

if (x> 59) printf ("%d ®:f %d 43 %dR T3, ¥n¥n”, x 60, x%60, y-x % 60) ;
else printf ("%d 4y %d ¥ ¥, ¥n¥n” , x, y-x%60);

printf ("EHEHIL 19%d 4 %d A %d HTY, 7,

d [k] . d. year,d [k] .d month, d [k] .d. day) ;
x =d [k] dl time;
printf (BRI %d 2 %d B T3, ¥n¥n” , x 760, x%60) ;

%

t
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}
int result title ()
{
unsigned char scan, inner, shift;
charc [10] (7] = (" K3 ", " K ", "ERBE
VOB TRREERT T LT HEIR T
function key disp (c) ;
textcursor (NODISP_CURSOR) ;
do {
key (&scan, &inner, &shift) ;
if (scan == 0x62) return (1) ; S xf 1%/
if (scan == 0x63) return (2) ; S x%f 2%/
if (scan == 0x64) return (3) ; S %f 3%
if (scan == 0x65) return (4) ; S xf 4%
if (scan == 0x66) return (5) ; S xf. 5%
if (scan == 0x67) return (6) ; S xf 6%
if (scan == 0x68) return (7) ; S xf 7%/
if (scan == 0x6a) return (9) ; S xf. 9%
} while (1) ;
}
function key disp (char ¢ [10] [7])
{ int i;
textattr (0xeb) ;
gotoxy (4, 25) ;
for i=0;1<A0;i++)
{cprintf ("%s” , ¢ [i]) ;
if (i == 4) printf (" ™) 1 else printf (7 ")
}
}
course ()
{ int n;

x =d [k] . d. n _correct;
y =d [k] . d. n error;

printf ("EITHE %d TIEL WHEOEIAIZ %d /—+ > + TF, ¥n¥n”,

x+y, 100L*x 7 (x+vy)) ;
y=d [k] .d 1 time;

if (y) printf ("2} v— 27 D@ER 3469 %ld T3, ¥n¥n”, 60L*xx y) ;

if (inc level ()) printf (kv ~nu~iEHE§, 7 ) ;
else printf ("4 3L L ZDL~LEBELEL L O );

}

1 SR T TR
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do {
clrscr ();
gotoxy (10, 2) ;
printf ("a—xz2FK5 (155 %d) 2AHLTL3w", L. max+1) ;
gotoxy (10, 4) ; my scan (&n) ;
if ((n> 0) && (n <. max+2))
{1. level = n-1;
data read (1) ;
f course = 1;
return;
}
if (n == 0) return;
} while (1) ;
}
my scanf (int *n)
{ int i, 1;

1=0;
textattr (Oxel) ; /% putch {1 <conio. h> %/
do {
i = getch () ;
if (i==13) *n=1;
if ((i> 47) && (i <58)) {putch (i);
1 =1%10+i-48;
}
if ((i==8) && (> 0)) {printf ("%c %c” ,1i, 1) ;
1=1,10;
} /% BS keyx
} while (i! = 13) ;

init (int fp)
{ int i, j;

clrser () ;

for (i =0;1i <40 ;i4+4) name [i] =0;

gotoxy (10, 2) ;

printf ("HHEZADL T E v, #£HN(E CR X—-7) ;

i=0
do {
gotoxy (10-+j, 4) ;
i=getch () ;
if (i == 13) {name [j] =0 ; break;}

if ((i==8) && (3> 0))
{printf ("%c %c” , i, i);
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J-=
continue;
}
if (i <32) continue;
name [j++] =i
putch (i) ;
if (((i> 0x80) && (i <0xa0l)) || ((i> 0xdf) && (i <0xf0)))
{i = getch () ;
name [j++] =i
putch (i) ;
} S R BEFDONE*
if (3> 37) {name [j] = 0; break;}
} while (i! = 13) ;
Iseek (fp, OL, 0) ; write (fp, name, 40) ;

}
data_read (int m)
{ int i, fp;
long 1g;
char ¢ [2] ;

if ((fp = open ("TEXT¥¥RESULT. DAT”, O RDWR | O BINARY)) ==-1)
result make (&fp) ;
if ('m) {
read (fp, name, 40) ;
if (Iname [0])init (fp) ;
Iseek (fp, 40L, 0) ;
read (fp, ¢, 2) ;
1. level = ¢ [0] ;
l. max = ¢ [1] ;
for (i=0;i<30;i++) read (fp, d [i] . c, 20) ;
!
lg = 642+1. level % 500;
Iseek (fp, lg, 0) ;
read (fp, 1. n_c, 250);
read (fp, L n e, 250) ;

close (fp);

}

data_write 0

{ int fp, m;
long lg;
char ¢ [2] ;

TIME INFO time info;
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c [0] =m =1 level,

¢ [1] =1 max;

d [m] .d. n type=d [m] .d n type+l. n cc+l n_ee;

d [m] . d. n correct = 1. n cc;d [m] . d n error = L n ee;

d [m] .d 1 time = 1. level time; /% a— Z DR *

if (inc_level ()) {c [0]++; S RRDL NN T B * S
if (¢ [0J>c [1]) ¢ [1]=c [0] ; /* RV ~_NEZEHE*x
¥

time info. cmmd = 0;

bios98time (&time info) ; SR BIEORR E F x
d [m] . d. year = (time info. year 16) %10+ (time info. year%16) ;

d [m] . d month = time info. month week 16;

d [m] .d. day = (time info. day,/16) % 10+ (time info. day%16) ;

d [m] .d. t time+=lLlevel time; kAR *
d [m] . d. count+ +; % BEE %/

if ((fp = open ("TEXT¥¥RESULT. DAT”, O RDWR | O BINARY)) == -1)
{clrscr () ;
cleardevice () ;
printf ("RESULT. DAT #40) $8A47);
exit (0) ;
}
Iseek (fp, 40L, 0);
_write (fp, ¢, 2) ;
lg = 42420 % m;
Iseek (fp, lg, 0) ;
_write (fp, d [m] . ¢, 20) ;
lg = 642+ m % 500;
Iseek (fp, 1g, 0) ;
_write (fp, L. n c, 250) ;
_write (fp, L. n e,250) ;
close (fp);

result make (int *fp)

{
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int i;
char ¢ [100] ;

for (i = 0;i <100;i++) ¢ [i] = 0;
if ((*%fp = open ("TEXT¥¥RESULT. DAT” , O CREAT | O TRUNC |
O_BINARY, S IREAD | S IWRITE)) == -1)
{clrscr ();

cleardevice ();
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printf ("RESULT. DAT &) $HA4A") ;
exit (0) ;
}

for (i = 0;i <156;i+ +) write (*fp, ¢, 100);

c [97] = 0x0d;

c [98] = 0x0a;

c [99] =0x1a;

write (*xfp, ¢, 100);

close (xfp) ;

if ((*fp = open ("TEXT¥¥RESULT.DAT”,0 RDWR | O BINARY)) ==-1)
{clrscr () ;
cleardevice ();
printf ("RESULT. DAT %0 $%A4A") ;

exit (0) ;
}
}
file disp (unsigned char *c. int * f lend) SR LERERTL* )
{ int i, x;
gotoxy (10, 4) ; printf (79%80s” , ") ;
gotoxy (10, 6) ; printf (”280s” ,””) ;
gotoxy (10, 4) ;
1=0;
while ((x = c [*f lend])! = 0x0d)
{if (x == 0xla) return,
if (x == 0x1f) {
textattr (0xe5) ; J x R *x
putch (0x1f) ; SR TFHEXDEEN %/
¢ [(*f lend) ++] = 0x0d;
return;
} / *%CR X—F&nR %/
if (((x> 0x80) && (x <0xal)) | | ((x> Oxdf) && (x <0xf0)))
{
printf ("%c%c” , x, ¢ [(*f lend) +1]);
(xf lend) +=2;
i++;
} /o BIFALER *
else printf ("%c” , c [(*f lend) ++]) ;
if ((++1)> =60) return;
}
}
int read file (int 1, unsigned char *c) SRk LEEANT L *
{ int j, fp;
char t [15] ;

1+ +;
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}

read keyboard ()

{
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strcpy (t, "TEXT¥¥TEXT.”) ;
t [10] = 48;

t [11] = 1,710+ 48;

t [12] = 1910+48;

t [13] = 0;
if ((fp = open (t, 0 RDWR | O BINARY)) == -1)
{clrscr () ;

cleardevice () ;
printf ("TEXT. ?2? 25 D) F84") ;
exit (0) ;
!
j = read (fp, c, 3000) ;
close (fp) ;
return (j) ;

int i, fp;
char ¢ [1062] ;

setvisualpage (0) ;
setactivepage (0) ;
cleardevice () ;
setactivegage (1);
cleardevice () ;

/% X — K

—FDT—=5 2 AS1*/

if ((fp = open ("KEY_DISP. DAT” , O RDWR | 0 BINARY)) == -1)

{clrscr () ;
printf ("KEY DISP. DAT #»b ) ¥4, ") ;
exit (0) ;
for (i = 0;i <75;i++) {
read (fp, c, 1062);
putimage (60, i%4, c, 0) ;

}
close (fp) ;
if ((fp = open ("FINGER. DAT” , O_RDWR | O BINARY)) == -1)
{clrscr () ;
printf ("FINGER. DAT #&0 £84, ”) ;
exit (0) ;

}
read (fp, g, 800) ;
read (fp, f_w, 800) ;
close (fp);
clrscr () ;

keyboard_copy 1, 0) ;
disp waku (1) ;

T |
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}
keyboard copy (int 1, int m)
{ int i;
char ¢ [1310] ;
for (i = 0;i> 30;i++)
{setactivepage (1) ;
getimage (60, 150+i%5, ¢) ;
setactivepage (m) ;
putimage (60, 150+i%5, c, 0);
}
setactivepage (0) ;
'
disp_ waku (int k)
{ int i;
setfillstyle (1, 5) ;
for (i = 0;i <4i++) bar (60, 5+i% 32, 580, i %32+10) ;
bar (60, 5, 65, 106) ;
bar (575, 5, 580, 106) ;
bar (480, 5, 485, 40) ;
if (k ==1) for (i = 1;i <1L;i++) finger (i, 7) ;
}
finger (int l, int col) %1 =1-10 ¥4 $5%E col = sk
{ char ¢ [10] = {40, 55, 60, 55, 30, 30, 55, 60, 55, 40} ; /" *FHHKEE */
int d [10] = {124, 148, 172, 196, 220, 268, 292, 316, 340, 364} ;
/R FEDONE *

if (col == 2) {
f g [2] =c [1-1];
putimage (d [1-1] , 370-c [1-1] ,f g, 0) ;
}
else {
fw 2] =c [1-1] ;
putimage (d [1-1] , 370-c [1-1] ,f w, 0) ;
}

}
int key shift (unsigned char * shift)
{ KEY INFO Ky;
ky. cmmd = 2;
% shift = bios98key (&ky) ;
b
int key (unsigned char *scan, unsigned char *inner, unsigned char * shift)
{ int k;
static unsigned char b_shift;
KEY INFO ky;
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}
finish ()
{

178

do {

ky. ecmmd = 1;

k = bios98key (&Kky) ;

*scan = ky. scan_code;

% inner = ky. inter_code;

if (Ik) *scan = 0xff;

ky. cmmd = 2;

* shift = bios98key (&ky) ;

if (b shift! = *shift)
{b_shift = x shift;

if (k) return (1) ; else return (0) ;

}
if (k) {
ky. cmmd = 0;
bios98key (&ky) ;
return (1) ;
}
} while ('k);

cleardevice () ;
clrscr ();
exit (0) ;

’



